Al 36, 221 Ftesh Gandy Calibrabion,

Tergd 150 Ibs f4 Bt wile Lepm
Ié A&(Zec,“ldf <

9995 ineh Sigabt‘

v \ 5
5 mph priles par han
Sy 5 = Mo dat per hoor |
Mo 20 = Ypo  Hed pr min,

Huo \[Jr P min, |
UHe ~ 30 4 b = 13202 5}“
1330 38 < W3s0 q b4 = 0.303030 4

1085 0303030 4 =
Ao X 930330 4 = HEygc by

HSHE e B dds = 284 | I g L
244 by x usy

|
Jmlﬂj ﬁ"‘r‘i}' f.:iw]i = ,\26(7. 77
i | ming P Fube l
- \ "ﬁi 'Wi oA




U)o 7020 PCT%Z’#Sh 60(\8&0& (alibiohion

= ‘{T : .
30T mde

fessat fbo st 16 &flsctrs
S mgh, mibs pv hor | 328 SPRliny

Sx SIB0- 60y Aot po heor
Q (-l"’ L/D T (HO - L)”/D '{QJL+ f'a;_r e
L/\/\'w\/\/\*”“\,/\—_\_/\‘fm_——"v’”
qu‘ £+ Ng e
Ll_ﬁf;o X 30 = 13300
) 5260 i< YFG6o = « 342470 A.
0 L} S )l'ﬁc ot 5 {)’503() A

se

/00115/21)( I ’303’03({) = 350, 30 s
50303 s 5 /6= [ 8GY  Ihs i Aubt,

/55‘"1‘.%39«/ | poend.
[ 899 s xysYy= 86,47

I;E%Oﬁ@WG “ﬁﬂﬂ%‘ﬁﬁ/mﬂ\ !

@ o ol T S
9N 196 (96 Mg 1965 x4sy
196 | T =87 goms.

[ 96S  Ibs par \"\m'«\ n 0N ‘}Ui?ﬁ
76 X 16 = B3hdYy Pands | in o+
LY pownds ia 3ot + Acis (ovved Cf}’cﬁo.?o)

tammans

= B3 7 Pounds pN Acre .



